
Lösung zu P17 A1.7.9

 oBdA p>q 

Lös: xR  gilt (1+x)p(1+x)q=(1+x)p+q und 

    (1+x)p(1+x)q= [∑j=0
p

(pj )x j][∑k=0
q

(qk )xk] =(1+x)p+q= [∑ν=0
p+q

(p+qν ) xν]
(1+x)p(1+x)q=
( (p0) x0+ (p1) x1+ (p2) x2+ (p3) x3 +.. (pp) xp)+( (q0) x0+ (q1) x1+ (q2) x2+ (q3) x3+… (qq) xq)=

 (p0) (q0) x0+ (p0) ( q1-0) x1+ (p0) ( q2-0) x2+ (p0) (q3) x3+…         (p0) (qq) xq+

         (p1) ( q
1−1) x1+ (p1) ( q

2−1) x2+ (p1) (q2) x3+ (p1) (q3) x4+… (p1) ( q
q−1) xq+ (p1) (qq) xq+1+

               
                   (p2) ( q

2−2) x2+ (p2) (q1) x3+ (p2) (q2) x4…           + (p2) ( q
q−1) xq+1+ (p2) (qq) xq+2+…   

                          …        …                          …
                                                                                  (pp) (qq) xq+p    

=∑
ν=0

p+q

x ∑
j= 0

ν

(pj )( qν− j)  und Koeffizientenvergl.


